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１．次の図で，ＢＣ//ＤＥのとき，a，bの値を求めなさい。 
  ①                       AD = 3 cm，AE = a cm，DE = 2.5 cm， 
                   A        AB = 9 cm ，AC = 6 cm，BC = b cm 
                           ＡＥ：ＡＣ＝ＡＤ：ＡＢ 
                              a：６＝３：９ 
                               ９a＝18 
                                a＝２ 
                           ＤＥ：ＢＣ＝ＡＤ：ＡＢ 
                             2.5：b＝３：９ 
                               ３b＝22.5 
                                b＝7.5 
                 B                       C                a＝２ ，b＝7.5  
                           
 
 
  ②                                             AD=4 cm，AE= a cm，DE= b cm， 
                                                  AB=10 cm，BC=15 cm，EC=4.5 cm 
                               ＡＥ：ＥＣ＝ＡＤ：ＤＢ 
                                         a：4.5＝４：(10－４) 
                               ６a＝18 
                                         a＝３ 
                                    ＤＥ：ＢＣ＝ＡＤ：ＡＢ 
                                                       b：15＝４：10 
                               10 b＝60 
                B                                 C      b＝６ 
                                      a＝３ ，b＝６  
 
 
  ③                                              DE=10 cm，AE= a cm，AD=8 cm， 
                           E      D          BC= b cm，AB=12 cm，AC=9 cm 
                           ＡＥ：ＡＣ＝ＡＤ：ＡＢ 
                              a：９＝８：12 
                               12 a＝72 
                                a＝６ 
                           ＤＥ：ＢＣ＝ＡＤ：ＡＢ 
                              10：b＝８：12 
                               ８b＝120 
                                b＝15 
 
                                      a＝６ ，b＝15  
 
 
         B                 C 

５章(相似と比) ２節(図形と比) 

１．三角形と比 
   年    組    番 
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